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EXAMPLE: What is the temperature of the steel-copper junction
in the steady state of the system shown in fig. length of the stee '(1 =l5ww

rod = 15cm, length of the copper rod = 10cm, temperature of {2;1 0 L~
furnace = 300°C, i lele A =oA
Furnm:tLL‘# lca Bo 1= 2
temperature of the other SEHG | ot " 34 '*C"
T o ——r fi - . m
end = 0°C., The area of Steel T eomper 1= 0072

= cL-) -
cross-section of the steel rod is twice that of the copper rod. k‘?—"38’5 JA Wi C

Thermal conductivity of steel = 50.2 Js'm ' °C-' and that of coppel
=385 Js''m 1 4C



